Percentage of amount – Challenging
1. 10% of 50
2. 10% of 80
3. 20% of 60
4. 20% of 70
5. 20% of 90
6. 20% of 140
7. 30% of 80
8. 30% of 130
9. 30% of 30
10. 30% of 60
11. 40% of 20
12. 40% of 10
13. 40% of 60
14. 40% of 120
15. 60% of 30
16. 60% of 200
17. 60% of500
18. 90% of 130
19. 70% of 230
20. 80% of 800


21. If Bobby went to the shop and there was a 20% sale. He was going to buy a top for £20. 
a. How much does Bobby save?
b. What is the new price of the top?
22. If Sarah went to the shop and there was a 10% sale. She was going to buy 7 CDs for £60. 
a. How much does Sarah save?
b. What is the new price of the CDs?
23. 
24. 10% of 400
25. 1% of 400
26. 13% of 400



Percentage of amount – Very challenging
1. 13% of 500
2. 12% of 800
3. 23% of 600
4. 26% of 700
5. 28% of 900
6. 24% of 1400
7. 32% of 800
8. 38% of 1300
9. 31% of 300
10. 35% of 600
11. 46% of 20
12. 41% of 10
13. 45% of 60
14. 40% of 120
15. 65% of 30
16. 68% of 200
17. 67% of500
18. 99% of 130
19. 75% of 230
20. 82% of 800


21. If Bobby went to the shop and there was a 25% sale. He was going to buy a top for £22. 
a. How much does Bobby save?
b. What is the new price of the top?
22. If Sarah went to the shop and there was a 15% sale. She was going to buy 7 CDs for £60. 
a. How much does Sarah save?
b. What is the new price of the CDs?
23. 




Answers Percentage of amount – L

1. 5
2. 8
3. 12
4. 14
5. 18
6. 28
7. 24
8. 39
9. 9
10. 18
11. 8
12. 4
13. 24
14. 48
15. 18
16. 120
17. 300
18. 117
19. 161
20. 640


21. If Bobby went to the shop and there was a 20% sale. He was going to buy a top for £20. 
a. How much does Bobby save? £4
b. What is the new price of the top? £16
22. If Sarah went to the shop and there was a 10% sale. She was going to buy 7 CDs for £60. 
a. How much does Sarah save? £6
b. [bookmark: _GoBack]What is the new price of the CDs? £54
23. 40
24. 4
25. 52


 ANSWERS Percentage of amount – M
1. 
1. 6.5
2. 96
3. 138
4. 182
5. 252
6. 336
7. 256
8. 468
9. 33
10. 210
11. 8
12. 4.4
13. 27
14. 48
15. 18.5
16. 136
17. 335
18. 128.7
19. 172.5
20. 96


21. If Bobby went to the shop and there was a 25% sale. He was going to buy a top for £22. 
a. How much does Bobby save? £5.50
b. What is the new price of the top?17.50
22. If Sarah went to the shop and there was a 15% sale. She was going to buy 7 CDs for £60. 
a. How much does Sarah save? £9
b. What is the new price of the CDs? £51


